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The figures in tlrc margin indimte full marles

forthe qtestions

Answer either in English or rn Assamese

1. Answer the following as directed : 1 x5:5

10

(a)

(b)

A2sl286

iEes fr{E I< ftrf.r q-tryR t-g-q ftm :

Every scalar matrix is a diagonal matrix.
( Write True or False )

frBrh qfr{ ffi,4br ft-s.F ffi-ryqry I

( q-si c{ qrsr frqt )

trf interest is compounded half-yearly,
what is the formula for finding amount?

w q{I{{ w E41fr fuE< 6tr{l TRCE

nfr1afrqk+-<try&fr'<r r

(Turn Ouer )



lzt
Given (frsr qICq ,

A = Amount 1.ffiy)
r = Rate of interest C{U.{ RR)
.P = princip"t qqqil
n =No. of years f{qfif qffi)

(c) Fill in the blank :

lrAIRT{pT,

*oo= -
where x denotes the volume of outputand TC is the total cost function.
q\e x-( Gqffis ltqft{ "r6qrr$ w+ rc-c 1b<rT TaH TqRq r

(d) Find the mean proportional of 9 and 49.
9 Ers 49T T{, wIffi ft.ft l'ql r

(e) If a man makes 2Oo/o profiton his sellingprice, then what is his profit on costprice?

.qq-{ {Tfq C{Dt Et{T seffs 20% Elv- A_61,
CsCg CE\i ft-+ fmq \e'Ks ftffi .,s VR< f

(3t

2. Answer any fiue of tJle following questions :

2x5=1O

Eq\o frTr ft c+nnr "YtuBt t*< t-q< ftqf ,

then find the matrix AB.

csr+q'rE AB ffidrsseh fr.fq q{ r

(b) lf a:b = 3:2 and c:b =2:5, then find o:c.

qfr a, b = 3:2 9FF c: b =2:5, reeg a:c fi"f{
srtT I

A sum of money at simple interest
becomes { of itself in 6 years. Find the
rate of interest.

cfr.{ qT {E{{ TiEI p 6 (TK TEqTK i
q"r q{tfl I Tq{ qK frtq T{I r

Evaluate Fqt q{0 ,

2x2 -8lrm 

-

x-->2 x -2

A2sl2A6 ( ?urn Ouer )

(a) If FO

^=(3; l, "=[i i)

(c)

(d)

Ms1286
( Continued. )



a

(s)

14,

(e) rira ff uro 
H, 

if u = *3 + xs.

(sl

0 An alloy contains copper and zinc in the

ratio 11 : 7. Find the total volume of the

alloy if it contains 11'9 kg of zinc.

qh qiq{ {Es sE qr+ qsm v-ttr rr:7.
qfr {ys qgn {Rrt 11'9 kg E{, cofl{'rq
trm {b eqq fi'f{ €{t t

3. Answer esry four of the following questions :

5x4:20

sffi ft 6ffin uRDr s:Ft ts{ frql :

(a) A person borrows T20,0OO at 40

compound interest and agrees to pay

both principal and interest in 1O equal

annual instalments at the end of each

year. Find the value of each instalment'

Given (1'04)-10 =O'676L

qsi{ qqzq <qfi 4oh 5-4rfr EFr Ws
T 2o,ooo <rqtq e'rq ql?F TE$t 

q-q ry 10bl

qq|q <qr{A$ ftEo qG<fE ffieE I $futl
rrrw{ frE< aol ftqH {1fift qfl t

fim sne (1'04)-10 =0'6761

(b) A trader allows his customers syo

discount on list price. What would be

the list price of an article costing
<712'50 to make a Profit of 33+%?

A2sl2e6 ( Turn Ouer )

Sill

Evaluate the following determinant :

rrs ftfl ftqtsrebr{ qH ft.f{ q{r :

lo-h slln o -rl
l-n f ol

Find (R.f{ srr) :

S ,r tqQ y = xtosx
ax

(h) Find x trrdg (xeFFgn{lqfr.1t$Er} if Ffr}

{fru= *'**a, ffisgqr Ikffifitrdx dg

(r
[, -y

If cost price of 2O articles is equal to
selling price of L6 articles, then frnd the
percentage of gain.

<fr zoh Tfr fr{r EFI t6h T{,r 6{Er qFK wH
En, &zq 1ET{I qle fi.fT T{r r

(Continued )

';') =(i a

(t)
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(6t

qq-{ c<"fltcq gRqs frRv yn \e'Fle 5%
c<fr Pu r 33+% qls TR-{tar 712.so t-sls
fr-{r {wBr< ans W frqa q\ z

(c) Prove that 42 -4A+31=O, where f is
unit matrix, O is zero matrix and

e{H <ifl R A2 -4A+31=0 T's IR? q$-{
cfrt++, o qh a* cfi-rom vr+

A =( 2 -t'l
[-1 2)

Find the average cost function and
marginal cost function for the following
total cost (TC) function. Evaluate them
at Q=3 and Q=5 :

Eq{ $ <K EC} F6Fr3 <16I ft9 Tfi TaFr qtiF
gtB$ <rr r-q{ fr.lh $-{t r e=3 qrs e=s
<16{ q1+-fi Fq qn fr.f-l q<t :

TC =35 +Se-2e2 +2e3

Solve by Cramer,s rule :

6qtfl<< ffie{ Rtrrs TII{r{ txn :

x+29+32=6
2x+49+z=Z

3x +29 +92 = 14

l7!

Integrate arty trlo of the following :

Eq-'{ fr c+tzat FK qT-s-q:{ ftfi +.{r 
', . ,2

(t) l["t;-4l a*
'\ 4x)

tiit { z' --L.) a,r[ sJx)

@q I:62 -3x+2ldx

The value of a machine depreciates at
the rate of 1O% p.a. At the end of
4 years, its value becomes t 1,31,220.
Find the original value.
Given : (O'9)a =O'6561

,{bf dtr;K {r, <qfr 10% EIN q<r{F{ q{ I {fr
4 <qfi 15o Crffin {{I 1,31,220 Ffl q{,

cb-r+qtE flE{zbm srfs YlI ftqT{ qTRq frqt
fill
ftfi qr< : P'9)a = o'6561

A contractor undertakes to complete
a work in 1OO days. He emPloYed

16O men who work 6 hours dailY and
finished frd of the work in 8O days. How
many more men should he emPloYed to
finish the work in stipulated time if the
men agreed to work 8 hours dailY?

( Tum auer )

a

^=(-1 1)

(g)

(d)

(e)
(h)

A2sl2A6 (Continued ) A25l2A6
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qqr tsmm 6sr.{ qh TFr 1oo ft-1" q-af
TR-<IE 160 wr qr{{ frcsrq rRrE r css*@r6s

ftc+ o qfifs pn aR otrebr< 3 qir ao fris
>rtF rRcE r qr+ ftqnq-{ q< ry;rt+ fimrq
Tfuq rmtr qqrc r1.f mR< "Kr qrq <ftzq
qrT{.{Kr ftc+ s x6rt+ Trq rR<tq qrB qrr

4. Answer arry one of the following questions : 1O

rET{ R c+tz-* efi rr< t-s< ftm :

(a) (/ A function is defined as follows :

qbt r-on vqr- fifl stfi :

f(xl={'-: oSx<1
[r-1, x>7

Examine it f(x) is continuous at
x=L- 5

/(x)q"H x = 1RW qfr&{ q{r+, flAfi
sill

(ii) A steel plant produces x tons of
steel per week at a total cost of

_(3 \TII--Tx2+11lx+5ot
[3 

-"'" "")

Find the output level at which the
marginal cost attains its minimum. s

I^251286 (Continued )

(el

qbr q'{ er-r{1

( t- -r x2 +11lx + ro) m*
[3 )

x t-t &qr a& qgr€ be."rntq rc( I fr
tRqrq{ bqflq{E gtB+ $q T{.q E{, m
Gq"nn+< "rR$q frqh EqI t

A certain sum of money amounts to
< 2,420 alter 2 years and T 2,662
after 3 years at a certain rate of
compound interest. Find the sum
and the rate of interest. 5

u_o1fr <tr WE ffis cfl?ffi {E<-+

frftq <E<r qss 2,420 Fo .me gQl
<E$r Ess 2,662 b-Ot e{ I Tol qr{ qr+

1r<-+ fi.f< +<t t

Two taps A and B separatelY fill
a cistern in 20 minutes and
3O minutes respectivelY. Both the
taps are opened at the same time,
when the cistern is emPtY. After
sometime, the tap A is closed
keeping B opened and it takes 18

minutes from the beginning to get

the cistern frlled. After how many
minutes, the tap A was closed? 5

( Turn Over )

(b) (t)

@

A2sl2A6



(10)

A qriF .a $r qftcr eeq zo fifib qr+
so frfitrc- \Freq qbr fiqry 1q TRT
tteq r ft<rmrzbr qrA cm qrr Kflh {A
$ mn qh qr+ ftqwr rqs A {foBr
m +R fim q? fu a {ftebr 6{Frr r"{r
q? r qfr qnsfivmr ffi{6r6r v& q,<?q
rs frffi qrtr, cserqh ftqT{ fihb{
olqv A qfr qm E-qr iqRE2

(i) Define bbjective function,
associated with linear programm_
ing. What are the basic assump_
tions of linear programming? 1+4:5
[qk+ Eqqr{ q?s qBs ffis Tqr,<
qsr fin r tEk+ EENfi 1t {R"flqTq fr
frr

(O Solve the following Lpp graphically : 5
.c-st f{Rr sr4:[.r rr{ircDr 6{<F{ EIiw
WI{I{ F{I :

Minimize Glqlq frqt q{r)

Z =2Ox+LOg

subject to ftq {rfl-6q5)

x+29 <40
4x +39 > 60
3x+g>30

x, g>O

( 11 I

(d) (r) Find the inverse of the following
matrix : 5

uq-{ ffiF g&"TNGfrerO :

(ii) A person earned T33O by investing
t1O,20O partly in alTo stock at
< 135 and partlY in 3o/o stock at
T96. How much money did the
man invest in each stock? 5

qq-{ {l-{rq 1O,2OO rfr< ,4tl q("1

135 trrto 4r% ?-s\5 qT+ qrqfi qfl
96 trsro 3%bss Rfuqll +R sso fsl
qlII T-(1 I {r{{qe{ {BA ?-{s ffi$
t-or Rfr-cmq +RRq r

l-1 2 3l
o=1, 3 3l

[r 24|1

(c)

***
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